graphing trigonometric functions December 09, 2013

Review:
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Given thatsec@ = " and @ is in quadrant IV, evaluate 4\
(4 points each)

15. cos@@ 5 §3
16. tanf (- 2
(>4 )

Given that the terminal side of passes through the point
(1, —4), evaluate (4 points each) ‘ ( |
— [

17. cot® :[’ |/f
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Summary:
For a Trigonometric function of the form y = af [b (x + g)] +d,

Amplitude = |a| (note that amplitude is always positive)

original period of the function (m or 2m)
| bl

Period =

¢ leftif :>0
Horizontal shift = —

right if %<o

up if d>0

Vertical shift = d ' down if d<0
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)’=sinx—%x = 310X + C","_‘X>

Quiz Wednesday 12/11
TestFriday 12/13

Continue working on graphing handouts through #60
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